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QUESTION 1

Given the code sample:

public interface GenericMessenger (
public void handleMessage(Message msg) { }

And: And:

TDefault
public class MsgHandler implements GenericMessenger (
public void handleMessage(Message msg) { }

)

@ Alternative

public class SmsHandler implements GenericMessenger (
public void handleMessage(Message msg) {

)

And the next fragment from beans.xml:

<alternatives>
<class>com.acme.SmsHandler< /class>

</ alternatives>
And this injection point:

@Inject GenericMessenger messageHandler;
Which type would be injected at run time and referenced by the messageHandler variable?
A. SmsHandler

B. MsgHandler
C. None of the above. An exception would be thrown due to ambiguous bean references.
D. GenericMessenger

Correct Answer: D

QUESTION 2

Your client has just up their chart of accounts. They are now designing the organization hierarchy in the system.
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Which three structures should the customer use the to do this?
A. Warehouse, Subinventory, and Locators

B. Cost Centers, Organizations, and Locations

C. Cost type, Default Cost Structure, and Item Organization

D. Divisions, Business Units, and Departments

Correct Answer: D

QUESTION 3

During Cloud Inventory implementation your customer requires you to enable the Oracle Transactional Business
Intelligence (OTBI) KPI to review the list of standard reports which is useful for their current business scenario. When
navigating to reports and analytics, the warehouse dashboard doesn\\'t show any KPI watchlist.

Identify two causes. (Choose two.)

A. Logistics Business Intelligence Analytics is enabled.

B. Logistics Business Intelligence Analytics is not implemented.

C. Organization is not enabled for warehousing.

D. Data permissions for the organization being referenced are not set up.

E. Supply Chain and Order Management Business Intelligence Analytics is not enabled.

Correct Answer: BE

QUESTION 4

Given:
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5 @Stateless

2: public class AlarmManager {

3 TResouirce

4: private TimerService timerService;

5: public void create Alarm(Date alarmDate) {
6: Alarm myAlarm = new Alarm();

i TimerConfig config = new TimerConfig();
8: config.setinfo(myAlarm.getId());

9:

10: }

11: ETimeout

12: public void handleTimeout{Timer myTimer) {
13: int alarmId = {int)myTimer.hetInfo();
14: show AlarmMessage{alarmId);

15: }

16: }

You are creating an Alarm management system. When you create a new alarm, you want it to create an alert that is
triggered once at the specified time.

Which method should you call on Line 9 to create the timer?
A. timerService.createCalendarTimer(alarmDate, config);

B. timerService.createSingleActionTimer(alarmDate, config);
C. timerService.createlntervalTimer(alarmDate, -I, config);
D. timerService.createTimer(alarmDate, -, config);

Correct Answer: D

Reference: https://docs.oracle.com/javaee/6/api/javax/ejb/TimerService.html

QUESTION 5

When should a JPA entity implement the Serializable interface?

A. when JPA entities are used in the EJB Full container

B. when JPA entities are used outside of the EJB Lite container

C. always, because JPA entities are required to implement the Serializable interface

D. when JPA entities are used as parameters or return values by the remote EJB operations
Correct Answer: D

Reference: https://stackoverflow.com/questions/2020904/when-and-why-jpa-entities-should-implementserializable-
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